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Class-VI Science
CHAPTER -9
The Living Organisms and Their Surroundings

Key points :

The surro ) ere plants and ani ir habitat. \.
’. — - . - — -
Several ic plants and ani ﬁare the same habitat.« \

T
Wts, which enable a plant or an animal to live i arigilular

“
te. rial (on
.‘ -

The giseCe of specifi
habitie | led adap

owever, th ’a be broadly grouped as and

T any t
ac water). y
e/

lety of orgamsms present in differen

Th A wide v

: imals icroorganis

RoC air,

The youn pto adults.

o5 'Olo
They respire. gl‘

and give out oxyt

.
arbon dioxide
They respond te

They all get rid of wa

They repra
They have a definite life span.
They have a particular structure and are made up of cells.

They show movement.




Habitat: Habitat is the place where an organism finds comfort, safety, food, water, air, shelter

and suitable conditio breeding and survival.

It has two co ’ piotic (living things like plants and animals abiotic (no
soil, air and i)y

,

BIOTIC PONENT

AU } PHS

e
AUTOPROPHS THEI WNFOODH
ON.)
0!
C fints are rophs.
BREROTROPHS

Carniv

ings like rocks,

MEANS SELF; TROF: EANS

-

Omni

Habitat p h

ABIOTIC COMPC
light,
temperature,
water, humidity and rain,
soil,

air and wind,




height of a place-plains or hills.

Type of Habitat:

(a) Terrestria - Plants and animals live on land.

some terr 1 Ditats are ‘

.
, — - & “—M
seashor oastal area. tS like mangroove and cocen p*re com
: - , N

turtle,alligator, crocodile,duck ete.

\
life ¢ L Ex. ion, ti ; ing on land under normal conditions WimMOMErate
te v ili . ‘
’ | -

A,
de '.

on th@bafk of Ponds

d ani “ving on hills a

ing roots. the Stem is ..

: i . . ar,plum,apricot,wal d.
arbore€ i ec i mg}ﬂ%or , honey
bee, side
(b) Aquatic Hald ' N wate mple..g @ es, rivers and

oceans.
plants growing in"Wg
plant body is covere

. -0

Adaptations: Presence of specific features or certain habitats which enable an organism to live in its
surrounding.




Adaptation helps an organism in acquiring certain characteristics which helps it in being able to live in
the habitat of its choice.

The adaptation may be (i) related to the habitat, or (ii) related to its body structure.

Terrestrial il 4

(a) Deser wall animals stay i p in sand d ay, and come oUt'a t. In plants,
leaves a e hsent or ve a(sgines; stem has a thickaw. %ting; rootSYURRde8l into the

soil. )

(b)

shaped

!% %
ve thick skin or fur; mountain goat has strong' hooiTrees CC
:

~leaves le lik .

a N
t brown in colour;

' o ]
1.
yes in }ron’ of face
.l
.

’Long cl

dng tee

(b) Ocea !

Q X
organisms li N.SE8
Animals have strea ]

Animals like squid

VERY SHORT ANSWER QU
1. Unscramble the given words below to get the correct word using the clues given against them.

(a) SATPADAOINT specific features or certain habits which enable a living being to live in its
surroundings




(b) RETECOXNI Waste products are removed by this process
(c) LUMISIT All living things respond to these
(d) ROUCDPRENTOI Because of this we find organisms of the same kind

Ans. (a) ADAPTATI

%

-
ch animal given in Fig.

l(ato
.

3

Ans. (a) Grassla
(b) Rain forests
(c) Mountain
(d) Desert

3. Classify the following habitats int@'terrestrial and aqua
Grassland, Pond, Ocean, Rice field

Ans. Terrestrial habitats - grassland, rice field.

Aquatic habitats - pond, ocean.




4. Why is reproduction important for organisms?
Ans. Reproduction is necessary for organisms because

a) it is the mode of progueing offspring of their own kind

b) to maintain uity of species

c) carrryi

5. Fill i
} T
(a) c i . * 4 components of a habitat: %
(b) ' i ive il ......%..... is called the aquatiC habitat.
. .. ive illlits surroundings. '
: i i RPN . e habitats. : ‘

| =
L

e main

2. Why do desert sn@

ard for those

Ans. The upper lay :
d are cooler than the

animals to survive.

upperlayers tha ( LOT the GESErL during the

3. Write the adaptation in aquatic plants due to which

(a) submerged leaves can bend in the flowing water.




(b) leaves can float on the surface of water.
Ans. (a) Leaves are narrow and ribbon like.

(b) Stems/stalks of leaygsare long, hollow and light.

’ ey B ;..%
(@) In cagmels eep their bodi rom the heat of sand.” « _

- - e '
Wilw -

.
air wh wim near the surface okater.
-

A a)ong legs puffed feet N
.

.
cabed feet
oles av\der develop
:
have gnlysspines. s this
.

e ,'Q/e Vi
ants?
| | i i i the p ation in
‘ s e iration.

e of predators

' 4

4. Mentig Ptation present i

(b) IQErogsTo enable t

(o)

6. What are
like lion?

.

Ans. Some of t re as follows:
() Long ears to hea
(b) Eyes o
c) Long legs which help to climb high

d) They are fast runners too which help them to escape




7. Read the features of plants given below:
(a) Thick waxy stem

(b) Short roots

(c) Cone shape

(d) Sloping

(e) Sma _ ’

ure gi '1 ,b,c,d,eandffror'nilistgiv ‘ %
: . .

]

ant, Dese

lant, M@untainous plant

Desert

c plan

inous rhs
:

LONG ANSW
1. Like many anima g organism. Give 2-3
reasons.

ms move on their own

equires fossil fuel

0 Processes like
are the characteristics of living things.

Ans. Both living orga
as they have life B
to move . ARG

respiration, reproduction, excretion, i

ng thing whicn |
T

2stion, growth etc w

2.What are the adaptive features of a lion that helps it in hunting?
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Ans. Adaptations of lion which helps it to easily catch its prey are as follows:

(a) The colour of its body and mane is brown which helps it to hide amongst bushes and open area
thereby avoid detection by its prey.

low it to know the exact location and movements G Dre

(b) Eyes placed i

(c) Powerfulydiivs, @l long claws enable it to catch and kill the prey. ‘

neck and i i front canine teg q

g\

plants and animals liv roduce‘ls called the

(d) Its a ﬂ: Proach to catch it

ercise: f

1. Wh |sb habita
he sur lidmg wh

2. Ho
Adapt
fism

cactus ad
of cactus in de
Ed to

(b) The halg a imals that live'on™and are called ------
(c) The habItASNFp | AN i ive in water are called -----
(d) Soil, water 2 ‘ > 2bit 2

(e) Changes in ou

Answer: (a) The ke
habitat, is called adapia
(b) The habitats of the

(c) The habi ats.and.a
(d) Soil, water and air-are aviotic factors of a habitat.
(e) Changes in our surrounding that make us responds to themrare called stimuli.

Question 4. Which of the things in the following list are non-living?
Plough, Mushroom, Sewing machine, Radio, Boat, Water, Hyacinth, Earthworm.
Answer: In this list Plough, Sewing machine, Radio and Boat are non-living.
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Question 5.Give an example of non-living thing, which shows any two characteristics of living
things.

Answer: Car is an example of a non-living thing that shows two characteristics of living things. A car
can move from one place to another. Also, it requires energy just like living things.

Question 6.Whigh g non-living things listed below were once parts of | hing?

Butter, Leath g‘v' ool, Cooking gas, Apple, Rubber.

#Apblwm \

QuesHiONt AEISt the co eristic of living things. - & '
e

.

Answer: ﬁ ~| eather, Wool,

Ans : mmon characteristi ing things.

() G
(iDENEe
(i
(i
o
(VIR

‘

//

Answer: In gre

tiger, etc. that fe@
predators to locate
adapt themselve
to escape their pre

Questioni§ !‘ | —@grasslan | mals that live
there. (Hi s ‘ sto hide in gr.

grasses are found Trees are very few h. Ors such as lion,
easy for these

ese predators, animals
e weaker animals
DT their survival.
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Class -6 Science
CHAPTER - 10
Motion and Measurement of Distances

4 \

Key wora '
” et -
REST : @e ts which re ﬂﬂrTa'ry at a place and do not a&their posi
) T

-
go from one place to another. .

*.“ aid to be at

ength of a fo I* idth of a finger, the dist of a ste
sion and a need to develop a unifor stem 61: measurem@t

ts of

Motio 2

Measurenae - i i ' the.same kind.
Measureme

The unit of meas

The number of
Conventional Meth@

Convention
Lack precision.

to person.

Hand span: Length between the tip of the thumb and little finger.

Cubit: Length between the tip of middle finger and elbow.
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Arm length: Length from shoulder to the tip of middle finger.

Footstep: It is the distance covered by a step.

1ts of measurement:-

i epend upon the s
usion in measur

Standaré S of Meas IS a unit to measure any quantlt letely an
Stangird e, mass-kilogram, time-second. ‘

Needs for stag

‘a

Units suc Span, foot, footstep dividual's

hand, fog ’ ence such units

tter k ‘ ‘S.1. UNITS.

BOLS OF UNITS

Symioage*for unit usually wiitten in small letters.

in plural for

S‘]Ott
:

DOMNS Not g

Symic raun

MotiC v‘A
rest.

the po g to be at
Dsition i

Types 0

(a) Linea A

Straight line ma
straight line. Examp

Other along a

Curvilinear Motiog ong a curved road.

14




TYPES OF MOTION WITH EXAMPLES

/,—"' "‘--~\\
g ~ Eb QQO
= &3 4 _  »mN v .R.3
-
7 ./ N

SE X} Linear Motion

Curvilinear Motion
Vibratory Motion

A B ; .
e S
)
Oscillatory Motion Circular Motion Rotatory Motion

- : ' -.‘ \a.4
(©» & J Movnl When afl object moves erne positi and bhwes dirdilio an
irre anner mple: butierfly, flies randomly in

|

own axi arou
ec of the [ he

(CEirgmlar Mo
ceflike objec
motier 0 type

() i : i ( ! arth
reve i i i

(i) R

Examp

Rotation i
revolutiona

(d) Vibratory ar when plucked.
(e) Oscilatory
same speed. Time
oscillations the objeCtMg

in and with the
ow many

(f) periodie motion. EX.

heartbeat, pendulum o clock;"hana

(9) Non-periodic Motion: Object does not repeat motion at regular intervals of time.Ex. Earthquake,
the eruption of a volcano, landslide, storm.

15




(h) Mixed motion: - more than one type of motion at the same time. Ex. A cricket ball bowled shows
linear as well spin motion.

(1) Resultant motion: - one kind of motion resulting in another kind of motion is a resultant motion. Ex.
wheels of a bicycle rotgi@about its axis resulting in the linear motion of they@igycle on the road.

(J) Random mg
bee, A playeriiifa fglitball on the field.

v
.

he motion without any sequence or direction is rando OUl@n. Ex. A buzzing

»\

rs the Eunual time interval

_‘* of a clock

(K) Unifg
hand.

() Orm Motign:
the ngmtio abusﬁ

ORT mJWER

’v" otion: When the

.

]body'overs the unequal- istance in equalMhte@@f time,

ich th

the f ing.

otion s‘Ning is an exam
000 c
AnNS ) o.tion

(ii) 1

2. Fillin tf A .
a |

(1) Motion of an @
(ii) A body repe 3in i » Bin ... g
(ii1) In rectilinear mo
(iv) SI unit'e 0
Ans. (i) Motion of an object or a part of it around a fixed point is known as circular motion.

(ii) A body repeating its motion after certain interval of time is in periodic motion.

(1ii) In rectilinear motion, object moves along a straight line.

16




(iv) SI unit of length is metre.

3. Write one example each of the following type of motion.

Fig. 10.7

ajght and curved iron
aent could be

The photograph giue
bars. How
made to the contractor?

Ans. The length of the grille can be measured using a measuring tape, or using a thread which can
further be measured on a scale.

17




2. ldentify the different types of motion in the following word diagram given as Fig. 10.8.

R FO | B B [T b e K e ) el S E R
L E Vo R L P l B JE A |R
A |L L (@ JORR1 2 ] .6 8 I P E A |l

MEsd Qs 'L E P ATHDEIN EBEElCT ALk
O IIWT10 N JE Wl S 7 S E
I E VI OEERT L O 1A |E e
T Re 116G LUEN I C E DI el . L
A L H PO NG G U B N |A
j ) e G R LB P i} H |G |R
O T FE b (] 4 8 I R 1€ U L A |R
R |T L St o S B S e b P E S i

0.

EEGEEERE T | E]
MY E|J]Vv]|E|]L]|P|1]|B]E}LA]
Allr Lot ]o|r]|PVETA
Nflo| T]| E|(PY] A] DINLE | C
olflwlo|N]|lEll Wi Y| z]s

il Elv]o]lRIFL yo] Al E]|W
TIIR|GINKHIWCIE|D|R] I
All z | s b T Holl |G ]Ju ]l E]N
T X PRI BT | BEEG
olVELY |(CIIIIRTCclUlLTA
V, -
RiET | 2 caite)[rosl sl e]| B LR

\J .
»

3. Four children me e leng ble which was about 2 ot them used different

ways to measure [~ - ~

(1) Sam measured it with'a'ha e l@ng thread.

(ii) Gurmeet measured it with a 15-cm scale from her geometry box.

(iii) Reena measured it using her hand span.

18




(iv) Salim measured it using a 5-m long measuring tape.

Which one of them would get the most accurate length? Give reason for your answer.

Ans. Salim would derij
of the table is 2 g Sg

ccurate result because the length of the measuringgtape is 5-m and the length
ength of the table can be measured in one go. Whe Sam can measure the
lengths which multiples of half a metre. But in other cases, chances G Olls more due to

multiple meas ‘

” . '
4. Mé ‘ vents related®o mation in Column | with the type’s‘owions give COlumn 1.
: -
C e Columnill
(), Aoy wheel 0F a Sewing (i) [Circular mot
(b)iMoVEment of tipof the min e hourl(ii) [Rotational motien
(c g swing ;' iii)Pegiadic moti

A

hand of a cl

b

c-(l

passe

Ans. Whe
with respe
appears to 8

changing
and hence

6. How are the a moving

electric fan differé

Ans. The wheel g OV TEPresents a Circular as we : aetion whereas a mark

on the blade*@ s a circular motié

7. Three students measured the length of a corridor and reported their measurements. The values
of their measurements were different. What could be the reason for difference in their
measurements? (Mention any three)

Ans. Difference in their measurements could be due to following reasons:

19




I. They may have used different measuring devices.
ii. The device used by three of them may have different least measurable length.
iii. It is possible that d of the corridor may not be accessible to measu

iv. The devic measuring may be faulty or not properly standardized.

— - - —

8. Booj |ong a stralght road He classified the moti ous parts
of th ign, (ii) circular motion and (iii) rectiline S
circ f the bicycle for each type of‘mﬂon” Supp answer
wit )
A a bicycle ar %I WS:

' o ]
(i bar or .at'shows re@lilinear motion. »

ith reference to#a cent

(iii

TEX

Quest d, wate

Answer:

On Land |In
Car, TrainBoat, |

Question 2. Fi : - '

(i) One meter is ------ .

(i) Five kilo jgpeess_

(iii) Motio i SRt :

(iv) Motion of the needle of a swing hine is ---------------
(v) Motion of a wheel of a bicycle is ------------- .

Answer: (i) One meter is 100 cm.

(1) Five kilometer is 5000 m.
(1ii) Motion of a child on a swing is Oscillatory motion.

20




(iv) Motion of the needle of a swing machine is periodic motion.
(v) Motion of a wheel of a bicycle is circular motion

Question 3. Why can a pace or footstep not be used as a standard unit of length?

Answer: We cagnog pace or a footstep as standard unit of length as the S fQot and the footstep
will not be the g8 I every individual. Thus, the measurement will not be s@

foldifferent people.
i m&ﬂzd \

Question If he following len

1metre, ! tre, 1 kilo

6. The ance betwee

l

Question ‘SeA/(rie thi&similariti i 2 algbceiling fan
that has bé

Answer: Simila

Differences: - C linear motion.
Question 9. Why colilg Stance? What would be
some of the probles C T T SOMIERTTS i StanCesauLmeasured with an
elastic tape i '

Answer: Elastic tap will not give accurate measurement because it stretches in length and reduces in

size when not stretched. While telling the measurement taken with an elastic tape. We have to tell
whether the tape was stretched and by how much. This is very difficult.

21




Question 10. Give two examples of periodic motion.

Answer: Example of periodic motion-
(i)Pendulum
(i1)Child on the swing

4

’ — - .
S cience

Chapter — 11 -

Jht, Shadows and Reflections

..,.

Lic fght is t tural age

hat stimulates sight ang

It only v when it is S€

Lig Orm o \‘Sibl
:

Lic

It make

Light @ e

The sensaii h‘,_

.

» ¥ -
‘

Sun, —
re =
stars

electric torch,

candle flame

22




Light is classified into two:

(1) Emission of light: ssifying objects on the basis of emission of light.

LUMINOUS :- objects which emit their own light are called lumi ts. Ex. A candle,

electric torch4 \

NON-L NOUS OBJCTS :- h do net-hav n light and are S e light
scatterec ’ are called n ﬂﬁ? objects.. Example: mop , Chair, table, etC
.

ows igt to pass through it eltherﬂrtlallyor violly @icalle an

Opti

oticajine .
Tk nt: All slancest allow Ilghtt eely through them and th gh wh| S can
Seen are *fed transgarent substances.Example: glass, air, etc' .

is call ansluc

nt: A
e..E

)bjects ple: book'br , etc.

o -

.
rom a 39/ cut off obstécle and

shadov
Opaque ol
Translucent OB

Transparent object

Types of shado [~ - v

The kind of shadow dependsStipon the size of he source of Mght'
Due to smaller (point) light source: Only one dark shadow is formed and this is known as umbra.

Due to larger(extended) light source: Two shadows are formed-a dark one in the centre and a light one
on the outside. Dark shadow is called umbra and the faint or lighter shadow is called penumbra.

23




The size of umbra decreses and penumbra increses as the the screen is moved away from the object

-y

Source of
Light

b

adow fo ed is @

ends up%’e angl ‘ y

isiblp’f - some tigeiEC

Penumbra

Wall far
from ball

r
y
.

shado hatevefbe the colour o

dur , that'is , black.

the

paque

OF

darkens

The sola
e between the sun

Lunar eclipse:
and the moon, the

24




Eaakar el ek

proces nding back the light rayswhlch a‘fa

of the lector W

ORT ANSWER QU

2. Observe the pig X sheet ¢ S pla position ‘P’, still the

25




Screen

Mirror

g’

Source of light

»

have been placed at position F’ttye i ' om the
atch o Wi t could be obtained on
rches and C shown in Fig. 11.7 are switched on one by one. Ii.ght
hes willknot form alshadow of the the sc ) °

26




I
—_—

Fig.11.8

»\

~'Tormea'on the scre A and B. \

. nce between the images form‘ed e AandC
Sk * NSWla? pUESTI NS U
ot the following state
)Rhe@®lour of the shadow of an 0 .

(i) Trgo
the lig

Will the ;;! difference i

OW most of

A " e obtain more than one

2. Suggest @ shadow of ag A
ore than one source

e shadows of player are

Ans. It is possible
falls on that obje
seen.. This is dué

3. On a sunny day,"d@
ground? Under what circumstances

erop ane ylng ig
an we see their shadow on the ground’?

adow on the

Ans. No its not possible to see the the shadow of a bird or aeroplane flying very high as the ground
which act as a screen is very far away from object and it can only be seen when the bird is flying very
low and close to the ground.

27




4. You are given a transparent glass sheet. Suggest any two ways to make it translucent without
breaking it.

ent glass by any rough ma.te‘ria&
-

\0
B, one by one, as show Fig. 11
\ " ~

Match the positic
Ans. A — a
B—b
If the angle of incident light is smaller, the shadow is longer. On the other hand, if the angle of incident

light is bigger, the shadow is smaller. This explains, why our shadows are longer in the morning and
evening and smaller in the noon.

28




6. A student covered a torch with red cellophane sheet to obtain red light. Using the red light, she
obtains a shadow of an opaque object. She repeats this activity with green and blue light. Will the
colour of the light affegisthe shadow? Explain.

Ans. Changing dur of light will not affect the shadow. This is due to thé shadow is a dark

patch formeg Jr' path of light is obstructed by an object which inhibits

ghEEom reaching in
the shadow -‘% 1\.
- '
Dy
.

m he occurrence of thick %e, fog, \
re.

dentic wels of re inein

Id be olour of sh

ng on a clot

‘ffec

ould
uction

9. Usilg.a
weari

Ans. The \ A |

10. In Fig. 11.11, & ade of thick co _ e transparent glass
sheet. What wi e and colo

ZWwxoo

Fig. 11.11
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Ans. The shadow formed will be a dark patch and the shape of the shadow will be the shape of the
flower along with the stalk. this is because thick sheet cutted in a shape of flower act as a opaque object
and cast its shadow .

LONG ANS STIONS

-

t ith flood lights O | ) see the
cannot see its sf when it is ki 4?‘  in the air.

1. A footh
shadow
Explain

r s being played
o0tball kept at th

Ans. glile Wing the ground because the'grotind act as a SCrec(lir it. But
whejhe ball is Ki round which is @cting as a screen gets a from tfoamall
henc adow ground.

flent ha
the s
Expla

(i)

3. A shee )@k a piece of m M sparent glg
and shape i alsone by one | ement shown igeig
be formed in [1.CaS how will the shadow on the screen &
reasons for you

y » - .

same size
e shadow
case? Give

Fig. 11.12
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Ans. The sheet of plywood is an opaque object and will form a dark patched shadow on the screen
because it completely obstructs the path of light.

Whereas the piece of muslin cloth ias a translucent object and will form a lighter shadow because it
allows light to pass thrgueh it partially.

The transpare Vill allow the ray of light to pass through it and hence dOSSsROEerm any shadow.

’ . -
. - -
n S Welo to make a sentence tr%u us unde
] a
SIARE OPAQUEOBJECITSMSHAD
. . ’
ORAQUEOBJIEGITSMAKES

1.2. Cl
DUS Or

obje

A

Al @, a pi planedlass, fog, a pice llred
on he flang

burner’ i ' . kerosefilistoV®, sun,

firefly
Answer:
_ .
Opaque 5 Translucer Luminous - s
A sheet of A lightened Sgofftransparent

A piece of rock

/A sheet of ™St of translucent

aluminium =

A CD A lighted torch ’V opaque
ects

A sheet of carbog 4 4 Firefiw ‘m..

paper -
Iron Fog Stove

An umbrella a wire mesh Sun

A wall fire fly

A mirror

/A wooden board

31




/A sheet of
cardboard

Question 4. Can you think of creating a shape that would give a circular shadow if held in one way
and a rectangular s w if held in another way?

Answer: Yes

-

y

alin comple
he mirg@r

naco u, will

yourse

tely dark room, if you hold'up a mirror in froNo

1 the mi .

S ’/dark rgbm, No one can'see
hich camjbe reflected to s he imag

Que

image in themirror, be'c'aud there i8N0

// s

""ﬂ

Key words:

Electiricity :- It is a flow of electic current.

SOURCES OF ELECTRICAL ENERGY :- Electrical energy is available to us from electric power
houses,domestic generators, batteries, and dry cells.
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Electric Current :- The Electic current is a flow of elcetric charges ( electron ).

Electric current flows in one direction only.

Electric Circuit: Theyg
back to the othegte

plete ath from one terminal of the cell ( say posiiilie
of the cell ( say negative ) is calle an electric circ

through the bulb and

CLOSED I"' - An unbroken path travelled by electrlcity is known as

‘ D CIRCUIT.

OPEN C ;\, LT :- A broken p s an OPEN \
’ : -.
Circ ' cltisa epresentation of the electric cirCuiMhe electriCelmants
electgial ponents) -
y
t of Ele ,'Ycity:
.
fing wires;

uit is also

. »
elp to co e @8ed for
sina -

Jhts up an electric cur

o its t

Swita \ S a Si i ic ci . When

a SWitCIO! ap | is.bri i flows.
- _‘F‘

Electric cgllg / . An electr cm . called posifilie i \alahile the other

IS negative & lectric cell th S flows fromy A minal to the

positive ( + IVESREL MR

Connecting wires, D and electric gell i1s used ir
etc. -

[
Electric ¢ 1 or.® " 4

Conductor: Materials that allow electic current to pass through them. All metals are good conductors of
electricity. Carbon is the only non-metal which is a good conductor of electricity.

ght Emitting Diode),

Electric current is stopped by Insulators.
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Insulators: Materials which do not allow electric current to pass through them. Example: plastic,
rubber, wood, glass, polythene, PVC, etc.

heating

light

ORT

used L

2. Fig. 12.5 shows @
the terminals of the B3
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-
v
yacell, asw . some connecting wires: Draw a @ m to
)

hem to make the bulb glow. ol
»

2. Will the

Fig. 12.6

Ans. No, bulb will not glow because the circuit is incomplete due to open switch which lead not to flow

current from one terminal of cell to another.
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3. An electric bulb is connected to a cell through a switch as shown in Fig. 12.7 When the switch is
brought in ‘ON’ position, the bulb does not glow. What could be the possible reason/s for it?
Mention any two of them.

lowing reasons:

S malc@ ries tg

5. When the chemical; i iC ce pS"Producing electricity.
The electric ce : > ‘ o] [sor: (such as the type
used in mobile phORe : i : i ow?

thus in
cal energy.

Ans. Energy.nei
rechargeable™®
After getting recharged they can be uséd again.

6. Paheli connected two bulbs to a cell as shown in Fig. 12.8.
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lectric
bulb

Il has two te
filament th

Fig.12.9

Ans. Arrangement A is not desirable because the cell will be rapidly used up.
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9. A fused bulb does not glow. Why?

Ans. A fused bulb does not glow due to broken filament leading to incomplete circuit.

10. Paheli w ires, instead, she

got two stri

ow a torch bulb using a cell. She could not get con
nium foil. Will she succeed? Explain, how?

through it and i « be used as

ing wire. Without cutting the wire i
xplain wit Ip of a circuit diagram.. -
.

e base of the li
ides of the light bulb
i I

Fig. 12.10

(i) What will be the direction of the current through the bulb in both the cases.
(QtoPorPtoQ)
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(i1) Will the bulb glow in both the cases?
(11i) Does the brightness of the glowing bulb depend on the direction of current through it?

Ans. (i) In case of Fig
will be from P t@Q

rrent flowing will be from Q to P. whereas in ca
rrent always flow from positive to the negative te

20f Fig 2 current flowing
ofithe electric cell.

(ii) Yes, be S cilllit is completed in both the cases. \

mma" 4\

ectric current. Also name the dévice‘%d to Aol the
.J
.

A | ,

. 5

ActiVily YoliperformiBevice ‘(

Example: @Bt light >

Makiflisan@iBh  Sandwich maker

Cookingiiod Heatef/microwave /

Heat wate Geyser/im _‘W‘w_

Listen to e} HED Iayer/radlo

-—GF—HEJL S |

12. A torch is no gugh*contact etorch*e fﬁ g condition. What
can be the possible rez : th

Ans. The reasons comld

(a) Bulb may,be gland hence the
current not TIOW™
(b) The cell may not be properly conné

(c) The switch may have a problem.

ed in series.

TEXTUAL EXERCISE

Question 1. Fill in the blanks:

39




(1) A device that is used to break an electric circuit is called ---------- :
(if) An electric cell has --------- terminals.

Answer: (i) A device that is used to break an electric circuit is called switch.
(if) An electric cell h terminals.

Question 2. e’ or ‘False’ for following statements:

ake a circuit.FaIs'es

t shov'v‘in#ig.
.

, t will lowv.i
fw' [ 7ﬁ1ﬁe

e bulb glow.

Answer:
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[ N(m: some ele ‘e, dgets that
4 ey - B
at'is used to either break the’ ic circuit or * Wete it
E. . i b, . ' .
cheWto them are microwaves, freez
after com e.g he circuit shown in Fig inithe Q.4 TnStead of
.' .‘ .

Question
have swi

ce cooker; asito iC

n insulator.

Question 8. Using
Is that objected

Answer: That objet
through an insulator. €

.

Answer:
to the one té
terminals of the

b
‘?- /‘

ot glow e%ﬂﬁerminal g7 4 e connected
In order to make ulb glow, wires si@id A I to the both

.

the bulb begins to glow.

ductor and not

Question 9°W
home?
Answer: The rubber gloves are insulators. This saves the electrician form getting an electric shock. That
is why an electrician uses rubber gloves, while repairing an electric switch.

itch at your

Question 10. The handles of the tools like screwdrivers and pliers used by electrician for repair
work usually have plastic or rubber covers on them. Can you explain why?
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Answer: Plastic and rubber, both is bad conductor of electricity. Hence they protect against electric
shock.

are not attr i tC

Magne magu

Poles of a 188 ron filingsgetill@l called the
poles. X ‘

North pole :- The . arsnorthristcatte ﬁ Jorth pole.

South pole :-Thé i , g Soutirpole.

Like poles repel’; ana™e t each other.

DIFFERNT TYPES AND SHAPE OF MAGNETS
Bar magnet
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Ball-ended magnet ( Dumb-bell )
Horseshoe magnet

Cylindrical magnet

an alloy

Magnetic Subs et o (o) 5 magnets. per, iron, nickel,

etc.
Non-magnetic Sub : SWHRICH Ao no act o2 xample: wood,
paper, plasti otg '
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Methods to make your own Magnet:

Single Touch Method: When a magnet is used to rub an iron object along it's length, the starting from
one end to another end like combing one's hair, the iron object gets magnetised.

Double TouchMe When an iron bar ( object ) is rubbed by two powe bagmagnets of equal
strength with Dsite poles at the centre, in opposite direction , the bar O ect becomes a

magnet.

Using E Current: The bar ized ische coils of a con
IS passeclnrg these colls - &

. -
4 { Prop Magnet:
-
A as two p *@s — nortlpole and southipole.

Sinmla Ies re ch other.

4* and current

0 poles a t each other.

MagRe oles a

neti~
Compas ol [SRRT o mpasss is Mmagnetise Sl i@ted on an
aluminium é\ i -south becausgiiihe A a giant
magnet. The COMIPa

Used in factories fc
Call bells an doo

Loudspeaker have,pa

Used by surgeons in hospitalSto temoMe steel splinters from t
Used in the construction of telephones, electric bells, etc.

Used to separate iron and steel from non-magnetic materials.
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DEMAGNETISATION, loss of magnetic property

A magnet may losegi@magnetic property when it is ,

—— !‘\
linst a hard substance.  «.

hammered

heated, or £

dropped l' rce and it stri

destrill th . . ‘
: ‘ .

-
TAKING C e

on-magneti 1erials
\

. - -
Whe C ow their like ales pointing in the'same direction ,

OF

in use
or wo

1. Fil

(W . agnet is ) ilkhave............

'

(ii) In a DR magnetic iSE.......
Ans. (i) twé k :
»

2. Paheli and
stainless steel pinSi
What could be the ré

he box of
could not succeed.

Ans. This i

: and hence
cannot be attracted by the magnet.

3. How would you test whether ‘tea dust’ is adulterated with iron powder or not.
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Ans. This can be detected using a magnet. Iron being magnetic material will get attracted to the magnet
and hence will prove the adulteration of the tea dust.

4. Boojho dipp agnet in a heap of iron filings and pulled it ou ound that iron filings
got stuck to t t as shown in Fig. 13.4.

oth th s of the ma
region called poles

(a) Which of the iron bar is likely to
(b) Which of the iron bars is not a magnet? Justify your answer.

Ans. (a) A because more number of fillings are attracted to the bar.
(b) B because there are no iron filings sticking to it.
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2. A toy car has a bar magnet laid hidden inside its body along its length. Using another magnet
how will you find out which pole of the magnet is facing the front of the car?

Ans. If the frontof
pole of the hid

car gets attracted to the north pole of the given then it is the south

et is facing the front of the car

(6-e option of A can match Wi

more tha ﬂ jon of B)

.

3. Matc /’ I with Cal
- -
B Coumn " ®

(2) NISGnglilitt racts f
(b), NEBGEBFCan be re

(c 'd if suspefided freely
(djiiBolegiBf the magnpt can begtentified by/(i

A i, |||anl’

(
» - — —I
iron filings. i nMgtsstuckt
:ﬁ Wlest attraction or .

(c

(1) Bytak
(2) Using a

LONG ANS

1. Three identical irG e lept op.a table e bals argliMagnets. In one of the

magnets the Nout ' arked. How will you £ OMtlagother two bars is a

-

magnet? Ide agnet.

Ans. Using the marked magnet, we can easily find out which of the two is a magnet. When the marked
magnet is brought closer any of the two bars the one showing attraction or repulsion ,will be a
magnet. The poles of the magnet can also be identified using the marked magnet. If one side of the bar is
attracted to the north, then it is the south pole of the bar otherwise it is the north pole of the bar.
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2. Describe the steps involved in magnetising an iron strip with the help of a magnet.

trip repeatedly against a magnet, the iron will ace

i Mo
0 show the effect on the.

show the effect when the othere

ice magnetizing property

sition of its Needle ou bring a
on bringi
the bar

Fig. 13.6

agnet will show deflection.
flectio ne direction

3. Suggest an ac 1SS i i 0 a bar magnet.
Ans. Magnetise the ne 3 i i Jow When the north pole

of the magne outh and the
opposite dire

4. Boojho kept a magnet close to an ordinary iron bar. He observed that the iron bar attracts a pin
as shown in Fig. 13.7.
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Ans. The ma erties from the magnet are induced into the iron bar a sult it starts

and attracts pins till the magnet is kept near it.

w-. - —

~ o . -

A and B, from the midd.le’, awn :
-

WO pie

veri I answer.

he t i‘eces behav

This ca r

the red end h

north pole

. Ifwe : towards
al i nd ght magnet is
o) o ing repelled b er magnet Vo pieces act
as individuz A X
5. Suggest an a S et. How is this storing a pair of
bar magnets? .
Ans. U shapedg 3 e shoe) is stored by pl plc 0ss the two poles

of the U-shapeo
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placing two metal plates and one wooden block as per. wing figure. The

ent the interaction beiﬁiﬁi hi bir magnets.

METAL
PLATES

and cylindric alhallended
(ii) The mé | aug attracted t
(iii) Paper i aterial.
(iv) In olden da * 0 find direction b
(v) A magnet alwa POTES.

Bar magnet i
wooden bl

WOODEN
BLOCK

Question 2. State

(1) A cylindrical magn
(ii) Artificia
(iii) Similar pole
(iv) Maximum iron flllngs stick in the middle of a bar magnet'When it is brought near them.
(v) Bar magnets always point towards North-South direction.

(vi) A compass can be used to find East-West direction at any place.

(vii) Rubber is a magnetic material.

Answer: (i) False (ii) False (iii) True (iv) False (v) True (vi) False (vii) False
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Question 3. It is observed that a pencil sharpener gets attracted by both the poles of a magnet
although its body is made of plastic. Name the material that might have been used to make some
part of it.

Answer: The blade of the sharpener is made up of iron which is a magnetic substance which gets
attracted by both the pgl@s of a magnet although its body is made of plastic

aced near that

"g on. Fill in the

Question 4.
of the othe
blanks.

hows different positions in which one pole of a mag
I indicates the resulting action between them for ea

Column i«
N-N
N- .
S-N

’
\Write a 0 properti
>Mperties O et:
SEBject made"®f iron,
ed mag Iways directs

are poles of @

' \ gnet locate

Question 6
Answer:

Question 7. AL d out near

which end is its
Answer: To loca

(i) A bar is taken and 'S
(ii) Allow the ma < ,
(iii) The North"poTleTe : s 3 dce the south
direction.
(iv) Mark the north pole of the magnet with the marker.

Question 8. You are given an iron strip. How will you make it into a magnet?

Answer: Steps to make an iron strip into bar magnet:
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(1) A flat strip of iron is taken.

(i1) On the iron strip, a bar magnet is placed and rubbed against it horizontally only in one direction.
(iif) When you reached the end of the strip, lift the magnet and again start rubbing from the initial
position.

(iv) This process is repe
(v) After this, the irg

ed more than 4050 times.
p will attained the property of magnet.

Question 9 v islcompass used to find directions?
Answer: A ] as a magnetic ne

J it whieh can rotates free ‘ gnet always
ed on compass a helps in finding Qi :
Questilo

points to } th direction whi
e i ] Ry
magnet rought from different directions tow. toy boa Lasibeen
floathly iMWater in a tub"Effect d ineach gase is stated in Celumn I. possibléfeag@ins for

the QlSe i@l affects entione Column I1. Match the statements given in Colmniiwvith
' o

thos umn |l
“‘

¥
J

y
olumn

olumn i_l B
a) Boal a magnefiwith N
Polg I :

p*BOat'IS Titted with.a magnetiwith a
d by the mag -
o ' ’ .

moves rds the magnet I
magnet Is'broug

ets attraae(!towards e magnet.

allS Not a

L —
Class—vl Science

CHAPTER - 14

Key points:

*"- - -
‘. 1 v
WATER TNATURAL'G

Water is an inexhaustible or renewable natural resource.
Three -fourths of the earth's surface is covere with water.
Nearly 70% of our body is made up of water and the rest is solid matter.
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Water is essential for life.
Water which is fit for human consumption is known as Fresh water or Potable water.

Only 2.6% of total waigmis fresh water.

Only 0.01% of I water reaches humans and animals.

' \
Ice is the soli@ g
. B

Water is the liquid

Vapour or steam 1S¥he

- Water Cycle:
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The cycle of processes by which water circulates between the earth's oceans, atmosphere, and land,
involving precipitation as rain and snow, drainage in streams and rivers, and return to the atmosphere by
evaporation and transpiration.

Water Conset is the wise and judicious use of water.

>
’ pS repaired.

Get all |

Use

Inst@a washi

3}

0
Water -

Water
Water is €

Water helps

aused flood. It effects
causes soil erosion.

Excess of water:
by damage property @

Lack of we . ithin a
region. It cause drought like CORaTtio effect by acute watelerisIs, crop failure, loss of life in all
forms due to starvation.

Rainwater Harvesting: Method of collecting rainwater and storing it for use during scarcity. It can be
used for several purposes including drinking, washing, gardening, flushing, etc.

54




Water vapour gets added to air by evaporation and transpiration.

The water vapour in the air condenses to form tiny droplets of water, which appear as clouds. Many tiny
water droplets come together and fall down as rain, snow or hail.

- A
ities smm being useg
ashing clothes; athing.

eguire less than one bucket™®

3. Write any two acti \
quire less than one bucket of water

Ans. Brushing teeth and drin

King re

SHORT ANSWER QUESTIONS
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1. Why do wet clothes dried on a clothes line get dry after some time? Explain.

Ans.Wet clothes when dried on a clothes line get dry after sometime due to the evaporation of the water
present in wet clothes and their conversion to water vapour.

2. Water kepililh sullioht gets heat from the sun and is evaporated. But ha

'3:\ ater kept

under the SRECIGIMa tree also gets ey W ’
o — .
Ans.Wai@Fl Inder the sha féEets evaporated due toit wup oft (BlINg daytime

due tQupres ofsun. T ides heat and evaporates the w ept in shaCees
By A

the availability of grounlter?
A

e of rai
s thereby reducing the

conere reaflo 'ftothe dr

4.\ here e‘;al fo

A

a)Incrggsed

b) dec evel of

5. Fillin \L

snow, rain, ClO@ES

Water,as ___ goe ____,whichon

condensation fa

Ans. Water, as vapol
clouds which on cone

0 ranspiration, forms

LONG ANSWER QUESTIONS

1. Most of the water that falls on the land as rain and snow, sooner or later goes back to a sea or
an ocean. Explain how it happens?
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Ans.The rain falling on the ground is a source of ground water. When it falls on the earth it gets seeps
into ground and portion of it flows into other sources of water bodies like rivers, lake sand wells and
then it flow into seas or oceans.

And when snow falls
flows down in t

e surface of the earth in the form of ice, snow or @a glacier. it melts and
rivers, lakes and gets merged with the ocean and

N\

m to show ho

-

"W 2

The Water Cycle

(the l-lydrologlc Cyclo)

Transpiration

Surface Runoff
Evaporation

- -p -?‘
3. Dissolve aMf water. Now i e salt back,
what will yo

Ans.To get the salt b3
back. This can aiS@Ms
and crystals of sa

N@aving the crystals of salt
r few hours. get evaporated

4. Explain the pE@@ess 1 water harvesting wit p of @™S@idable diagram.

Ans.Rainwater containing soil from th€roof is collected fromithe rooftop and is collected into a storage
tank, through pipes. Second step is to filter the stored water. The water can also be transported into a pit
in the ground. This then seeps into the soil to recharge or refill the ground water.
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0CESS
0Cess

infall fi
ve rai

Questio 'x

(a) Water @

(b) Steam rising

(c) Fog appearing

(d) Blackboard dries"tp
(e) Steam rising

Answer: (a) Condense
(b) Evaporation

(c) Conde

(d) Evaporation

(e) Evaporation

Question 3. Which of the following statements are “true”?
(a) Water vapour is present in air only during the monsoon.
(b) Water evaporates into air from oceans, rivers and lakes but not form the soil.
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(c) The process of water changing into its vapour, is called evaporation.

(d) The evaporation of water takes place only in sunlight.

(e) Water vapour condenses to form tiny water droplets of water in the upper layers of air where it is
cooler.

N

hy )

ottle of water is due to
t condensed after coIIidi.n

A
es to' m‘e the

sses beco
reath out,
Dntact the glasses

aled air. Thls ater

CLOUD FORMATION

Moisture

Clouds

Overland flow

Question 8. When does a drought occur?
Answer: If it does not rain for one or two years, the soil continuous to lose water by evaporation and
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transpiration. Since, it is not being brought back by rain, the soil becomes dry. The level of water in
ponds and wells of the region goes down and some of them may even dry up. The ground water may
also become scare. This may lead to drought.
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Class—VI Science
Chapter — 15
Air Around Us

is cal sphere.

nnot see air, but we can feel it.

tion is d wind.

es spa

nt in

Al - 3 d a few btbgr gases.

partiges esent in it.
Atmosehe i ' //
Aquatica h e dissolved alrin wa :

Plants and i oM@ cach other fore

.

Troposhere
Stratosphe
Meseosphere

Thermosphere
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T hermosphere

OEOTEe layer -3 .

: |

TIPS

¥

Troposphere
:

’
S rﬁos‘ n'trogen oxygen . Nitro o of
est 1% is,carbon ioxide, water vaour, dust parti . on of

is uset

Wate D(

called ht k

5. Dust 2
Presence of dU

Air aids burning. ‘ TS

Air is needed for breathing:

ris

aries from

h I containsa
1

Plants need air to make food.

Birds fly in air. Aeroplanes also go up in the air because of air pressure.
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Moving air is called wind. The wind makes the windmill rotate.

Air help in quick evaporation of sweat that helps in keeping us cool.

w, correct
— - ‘ —— —

' tion. T

(b) P : rocess of making their own\%

() ; i gliders, but plays no role inthe*flight of biri

ight of birds an oplan

: Air o les space.

(] r{Lfemlwir|n]
m [y][nJolc]x]E] o[ TTTTT]
0 MESED o[TTTT]
@ [0S
Ans. (2) WINDMILL
(b) OXYGEN

(c) SMOKE
(d) DUST
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4. Make sentences using the given set of words.

(a) 99%, oxygen, nitrogen, air, together
(b) Respiration, dissolved, animals, air, aquatic
(c) Air, wind, motio

Ans. (a) Oxygglia Itrogen together make up 99 per cent of the air.
I 2 dissolved air for respiration.

arious gases.

)l‘ows the

» »
(a) What is policeman wearing to cover his nose and mouth ?
(b) Why should he cover his nose?
(c) Can you comment on air quality of the place shown in the Fig.15.1?

Ans. (a) A mask
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(b) To save himself from the dirt and the polluted air.

(c) Air quality of the place is not good. This is due to the smoke, dust and gases released by the
automobiles along with dust particles present in the air.

3. Garima at when she left her tightly capped bottle full of wa en sunlight,

tiny bub rmed all around igsi o-%na to kno happened?
e

Ans. Th 10 the air dissolved in water trying to escape

temp i t from the sun. : &

%

.
4. he item .Colum with the ite s’ lumn 11 ’

- - J
C ® [Columni e
(a r cock (i) dBses and fine dust parti
( ineer (i)
( iIr insi e nose|(iii) o
( (iv) directi
(e l
’ 0'
A ) \ £ Y
(b) '
© - \, /
(d) - "~
(@) - ( . o
Rsia o
LONG ANS S
1. Explain the fol rvations briefly '
-
(a) A firki does n tate i a closed a
(b) The arrow of we r i i irecti t rticular moment.
(c) An empt ctis
(d) Breath

Ans. (a) Firki is rotated by the moving air. But in a closed room the air is still and hence cannot rotate
the firki.

(b) The arrow of weather cock shows the direction of the wind at a particular moment.
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(c) It is not empty because at that instant the glass is filled with air.

(d) Breathing through nose helps to reduce the entry of dust particles to some extent by obstructing the
dust by the fine hair present inside the nostrils. But mouth has no such mechanism to eliminate the dust.
Therefore it can be hagggiul.

4

2. Imagi ‘ e what would ha i wing gases disapf
atmosp - .

-

(@o s ‘
(b) -
() c OXId ,
c ygen- If en disappears from th here, then life would not‘st on ea ’
iVARIO JS use 0X n from i synthesns,dnlmals c jen
pirationgoxygen is requwed durin ning. t be pogble wit ygen.

en- Ni n is the m
lants r e it to stay h

thlngs need gen t¢

Dioxide- blant osyn

ake their oan od,

d before
e up to the

the wate
brim andikaR !

(@) Why did

(b) Do you thin ple appear.on heating the water taken.#fTro le? Justify your
answer. :

Ans. (a) Bubblesappear bec i i : ailire is raised.

(b) No, tiny bubble ot'@ i & S

4. On a Sunday morning Paheli’s friend visited her home. She wanted to see some flowering plants
in the nearby garden. Both of them went to the garden. While returning from the garden they also
observed some flowering plants on the road side. But to their surprise they found that the leaves
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and flowers of these roadside plants were comparatively very dull. Can you help them to know
why?

Ans. The roadside plants are not watered regularly and are also exposed to regular dust and soot from
the road and passing velaeles which deposited over them and consequentlysggpears dull.

TEXTUA ¢ SE

Questio ’ at is the co

- | . | J¥ |
: . : i s are |‘t \mto it.
Step ik is filleghi i i ev%
Step 1B “ andles are ’ ’
Step IV: A . i Slle observed tha having less watg " ghts off.
This happened be & & erefore it burnt for

more time.

-

AR IOXYGEN) SUPPORTSIBUIRNING

s 1

The part of siv that sepports burning is cabled OXYGEN
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Question 4. How will you show that air is dissolved in water?

Answer: When a tumbler containing water is heated, tiny bubbles appear on the inner side. These
bubbles appear before the water starts boiling. So, these must be air bubbles. This shows that water
contain air.

Question 5. W lump of cotton wool shrink in water?
Answer: A lug on wool shrinks in water because the air inside wool ]
water. The S Sl together and hence lump shrinks. ‘

h is known & . \
" .
aWby green plants to make tﬁéir. 00d, is

driven out by

Questio he layer of air ar

Answer 3Rty

Que
Ans

i

t are possibl Qt the presence of air. x

he presence of air; °' A
»
' j

ea.in the ati@®sE e?

ptoSWNthesis,

OXYy(gE
that i

This is "0
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Class—VI Science
CHAPTER - 16
Garbage in, Garbage out

Key words:

aterial that has no

Vi e person who is ré | or it.
- N - — \
- .& ’

-

.
peeling, polypacks, bo‘garba ORish,
: .

.

.
5 nd‘ Ir‘.JslriaI wa

astic, objects, glass,

ultur : i cedimend

Ste.

rf tores
(i) Biodeg \‘ ' : i ugh the actigl GlficLQorganisms
into their i g - rorganic wastes, d l d animal

ishments suchas shops

wastes.

(ii) Non-biodegrade
remains unaffec

Of microorganisms and

(iii) Plastics: Many
converted into less,h

Pes, pens, etc. it cannot be
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ill effect of Plastics:

@ Burning emits poisonous gases which cause health problems.
(b) Foods thrown in plastic bags are eaten by stray animals which can lead to death.
(c) Carelessly thrown plastic bags choke sewer system.

(d) Food stored jm b ality plastics can be harmful.

(a) Dg
(b) Oflino
(c) astic bags.
(d).E i : about

, Feus ateria

including that from kit
o) radablé waste.

Redu euse, Recyclé

while the red

' ?
Use of two ‘ ;REEN AM one is for biogo

garbage bin dable waste.

Landfill is an area V area is later

converted into &

Plastics can

We need to generate less waste and find ways of dealing with the increasing amount of garbage in our
surroundings.
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VERY SHORT ANSWER QUESTIONS

1. Read the items mentioned in Columns | and Il and fill in the related process in the Column 111

Column | Co 1 Column 111
(a) Organic waste E orms 1) i,
(b) Garbage pit and fill with garbage((ii) ............
(c) Old ne er bags TN

;
el

Ans. (i) P nposting

(ii) galbA0aleosal/landii
oy T ﬁ

’
2. the an‘ions of

(JRComg@bst: Su ces conve

( ill: GarBage buried und
(i of unused mate
A

(iii) Can

3. Provide able term t

(a) Greeti k e
(b) Contents Ot/

(c) Worms conve :
(d) An area where aM¢
Ans. (a) Recycling
(b) Garbage
(c) Vermicompaosti
(d) Landfil

SHORT ANSWER QUESTIONS
1. To what use can you put the following kinds of garbage and how?
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(i) rotting smelly garbage
(i) dry leaves collected in a garbage
(i1i) old newspapers

Ans. (i) Convert into couapost.
(i) Use as man
(iii) Recycle th

Mmake paper bags or Papier-maché for handicrafts.

e i -Q-% ..
2. Pahelg@va ting a letter friend. She crumpled and threw the first d pf W8I letter on

the flge ad beco imilarly, she crumpled and 't ore pap )Mthe
grougsl. and put them in a polytherier. and thre DN @le road
’s action were responsible? What Id you e eif

A per for@loing rough work or

nvert it into r pulp fc.)r.ﬂaking ar

ha
3. a he poe itten below an inforghation g
frofit ook 0 wh

Bl diSreen
Two DIRs;

Yes, t
to throw
But not in a ht
Nor in a haste.
Select from waste;
Separate all items ane
Place in a blue bin, or one

For a voyage to the landfill, or for composting.

72




(1) Name the two kinds of waste that need to be separated from each other in two different waste
bins.
(i) Name two items of waste each that need to be sent to a (a) landfill, (b) for composting.

Ans. (i) The waste tha
non-biodegradalle

(i) () any i
(i) (b)

ﬁ Waste, animal du

biodegradable waste and can be decomposed bys@acteria or earthworms from

that cannot be degraded or decomposed..

\
S\

on the'@koul®. After
coug .

L hing

d every day, and bum dry Ieave&fa
huts . s field were suffering

mes a ases release h and

€S Ca JCOH

1. Put

Put a cro

_
Garbage ﬁ e manure or not

(i) Egg shells

(ii) Straw » .

(iii) Dry flower, | _ .

(iv) Pebbles

(v) Broken pieces oT'gla !

(vi) Nails and screy
(vii) Plastie
(viii) Left over food
(ix) Steel broken vessel
(x) Dead animals

~———-vw ——
L

Ans.
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Garbage Items Make manure or not
(i) Egg shells N
(ii) Straw N
(iii) Dry flowers N
(iv) Pebbles (%)
(v) Broken pi s|(<
(vi) Nails (%) -
(vii) Pla ()
(viii) L d
(ix) vessel
(x) als
2. charts d B sha@n in Fig. 16.2are based on waste segregati'q thod &

fo—
——
—
pm—

B B B

88

t s X aw respectively. :
L

Metal }

e Kitchen Waste 7 [

s ._.- )
Polythene Bags LS ]
News Paper
y
Kitchen Waste
¥ and Polythene Bags 7

-— "*‘;“1” |

Fig. 16.1

Which of the two families X or Y do you think is more environmentally conscious and why?
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Ans. Family X is more consious about environment because the kitchen waste and polythene bags are
disposed of separately.

3. Given beloware S in vermicomposting and each step has been gi ) alphabet. Rearrange
the steps in thglee sequence and write the alphabets on the chart provisse e step is done
for you.

: Dig 3

: Spre

F
C
E:
A:
D -
B

_

-

NI
O/>mmiolm

4. Write 3 sentences on what comes to your mind when you chance to see the following.
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(a) A rag picker.
(b) A cow eating a polythene bag.
(c) Foul odour emanating from garbage at the entrance of your house.

Ans. (a) He must be vel
others. This jobs ¢
likely to infec

poor and facing poverty hence needs to remove thgegarbage generated by
sky for him because he is getting exposed to harm bstances and most
Y diseases caused by germs and harmfull microorganis

(b) Plasti r fegradable and he WS. If cow inge D it will chock
their dige ’ istem which lead nd painfull death. -~ \

" *
(c) Lagg®o y of garb w which start rotting and causmollution .
] ho i

remojiec dispased careully . -

| hand ifted arti€les like boxes and tays are mad
n howypaper pulp Which is made fr aper

er pulp-ld our cc
make h"d boxe

ayer ofclayl) the layg!l
t to solidify it. Thi

paper can be soli
structu paper pulp
papier Fé ,its a paste 0

They are or the stray

animals wi
Plastic bags thro

and also result in

They give out i
st be banned. Instead of using plastic bags Deople g@f use cotton, paper or

air pollution. The
jute bags.

7. Why should we not burn plastic items?

Ans. Burning of plastic releases harmful gases into the atmosphere leading to air pollution and causing
diseases. The burning process is not that easy and the burnt particles may be eaten up by the animals
which may choke their system and cause their death. The burnt particles are toxic and may lead to soil
pollution.
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8. What happens when

ade to flow down a drain.
Dil, paints are poured down the drain.
wabs and old soft toys are thrown into the drain.

(a) Cooking medium,is
(b) Insecticide v
(c) Tea leave

Ans. (a) | pores in the soil an

(b) Kill

(c) Clmke®he drains.
9. the follod gqu ns in one or two words or sent
( hould refer to paper bags rather t :
, out of ollowing i age - father, mother,
clyoung ter?
h one 0 posti

non-biodegradable.
’
l. ‘.

akth or their into cq erefore
know : iend.

3
TEXTUALE

Question 1. (a)

(b) Have you see to find out their

names. Draw picture
Answer: (e

(b) Yes, these organisms include maggots, flies, cockroaches etc.
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Magootz

Question 2. D

~ ’mmg ‘.
ems relating to disposal'of.g_ % \

Ansvillr nsibility of the goverfiment. It is S
respaEsii e people.People should not litter at public place egshould
i duced at home, schools, hospitals

(a) Is garl Dsal the responsi

(b) Isit 0 reduce

e by'gak-hg follolly
»

PdpD buld ¢ e’n about ge i eating aware mong

EZ ; every ltCt should be use

(a) What'tle,yollitlo ome?2... =

are givenmtin:g in a plastig

(b) If you a a leaf platter
at a party, w ou prefer and why?

Answer: (a) We usUe Wastes are
biodegradable, h - gets converted

into manure after S@ine days

(b) 1 will prefer toe pana DECAUSE L IS 3 Diodegradal i ironment friendly and
can be dece x B8

Question 4.

(a) Collect pieces of different kinds of paper. Find out which of these can be recycled.
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(b) With the help of a lens look at the pieces of paper you collected for the above question. Do you
see any difference in the material of recycled paper and a new sheet of paper?

Answer: (a) Papers without having plastic coating on it can be recycled.

(b) The recycledgis
and of low qua

y yellowish in color than the new sheet of paper. R
new sheet of paper.

edypaper is also rough

\

g material. Whathas than%% of whi€

N "

ing could have been reduced?
Ing increas ” ount of garbage. :
.

Question S
(a) Colle ;" ent kinds of:
N groups.

'0 ne was

used 2D

(b) ¢ ! :

(O

(b) I EEAple : then

there W
punt of garbage MIS quite useless Q delivered or

been reduce
aging materials are thrown away and SMO"the garbage.
and thus a

(c) Packagl
been utilised.
Many packaging
nonbiodegradable itefT

Question 6. Do y0 zers? Why?

Answer: Yes, Lil : SeLOmpOst Instead of cheg e
(i) It is environment friendly and add fatural fertility to the sa
(i) 1t doesn't have adverse effect on nature and creates no pollution.

(iii) The food items grown are also healthy and do not contains any chemicals.
(iv) It is cheaper than the chemical fertiliser.

(v) Soil will never loss its fertility if we use compost.
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